Revision

1 Convert 3m into cm 3 00
G
2 Convert 7m into cm T00 Bl
3 Convert 8m into cm
0D Cwm
4 Convert 12m into cm -
|, 200 Cwm
S5 Convert 300cm into m 2 ‘A
6 Convert 240cm into m 9 - L(.
, : NA
7 Convert 140cm into m b Lp oan
8 Convert 392¢cm into m 3 .92 mn
9 Convert 3000g into kg 2 k@
10 Convert 1500g into kg | -Sh 9
11 Convert 5000g into kg 5 Rk 3
12 Convert 8500g into kg Q-5 kﬁ
13 Convert 7250g into kg 7 .25 Rj
14 Convert 5kginto g : Sogg 5 .
15 Convert 7kginto g 7 0003
16 Convert 8kg into g | < 0005
17 Convert 12kg into g : 12 0003
18 Convert 12.5kg into g Vi 5005
/
19 Convert 15.8kginto g IS 9003
J
20 Convert 16kg into |
21 Write = as a | D
10 LF'O IO
percentage
\Writa L o
22 Write 5 asa 70 0
percentage
o Write £ as a | °
§ 39 | ?0 IO
percentage | '
| 8
2‘-’:; VIIte — as ¢ o
10 | go /9
vercentage
25 Nrite —as i
percentage |
26 Write 20% as a fraction |
i
27 Write 60% as a fraction |
28 Write 35% as a fraction
29 Write 95% as a fraction

Write 48% as a fraction




31 Simplify 5 X 3d 154

32 Simplify 4 X 7e - 94%¢e

33 Simplify 7 X 6g l+2_9

34 Simplify 4 X 4f s lbf

35  Simplify6 Xk x2d | 12. kd

36 Simplify 9 X 3k X ¢ 5 27 RE

37 Simplify?: X2dXh | Bdh

38 Simplify 7 X 5d 3 50[

39 Write 0.4 as a fraction ' L{-/? 0

40 Write 0.8 as a fraction Q/i -

41 Write 0.9 as a fraction q/lO

42 Write 0.3 as a fraction 3/| .

43 Write 0.93 as a fraction | ?’floo

a4 Write 0.95 as fraction | “I‘S/’ o0 or W/ 20
Write 0.45 as a fraction 45);0 " oY q/za
1\_%2:(}2.438 as a 43 - ov 2,}‘5"00
::/aréiieo?]'gsz = qs/%fooo o q/i?-S
Write 0.03 as a fraction '3/100'
Write 0.063 as a 63
fraction 71000
Write 0.009 as fraction i/l 600
‘Write four thousand,

seven hundred and

forty-seven as a | L{" ) 7 L’F7

nhumber

Write twelve thousand,

four hunqred and '2} L{_' Zq

twenty-nine as 2
number

Write four thousand
and ninety as a number L'I",O q O

Write six thousand,

eight hundred and four 6} g O W

as a number

Write nine thousand,
seven hundred and 9 712
twelve as a number

56

Write 3,423 inwords | T}0 thousaud,, four hundsed and e

57

Write 5,492 in words ‘FW e, tlfLO\AS thrd M M"‘dﬂ




58 Write 7,005 in words SW n m it MA | OCL >
59 Write 8,499 in words 3\0\)7 C\wo;daa-& fOM‘Mred o | M'\d:] AL
60 Write 9,284 inwords |\~ o tlwus.w-@\ oo huudre aud &jb\gtfa "
61 Write 4839 correct to W
the nearest hundred | Lb g oJe
62 Write 8431 correct to A
the nearest hundred 8} LFOO
63 Write 6274 correct to
the nearest ten 6 IZ—TO
64 Write 17 correct to the |
nearest hundred | O
65 Write S35 correct to
the nearest ten q LFO
66 Write 14264 correct to
the nearest hundred IL{.I%OO
67/ Write 15143 correct to
two significant figures | 5, 000
63 Write 62.5344 correct
to two significant Q 2
figures |
69  Write 82.462 correctto | 39
tWo signiticant Tigures
70 Write 0.001246 correct |
to two significant | O 0012
figures
71 Write 0.007856 correct
to two signiticant 0 - O O 7 q
rigures
72 Write 82,123,163.5333
correct to two % 7 , 000 000
signiticant Tigures
/3 Write 64.53 correct to
two decimal places 6"'{' "5‘3
74 Nh te 1663.3566 |
correct to two decimal | 66 % -3 6
places d
75 Write 79665.132 |
correct to two decimal | 7 q} 665 ° ,g
places |
76 Put these numbers in

order of size starting

with the smaliest.

a. 8 S 2 -9,-2,0, 4,7 8,9
49
70

S, T -3, -35,-3,-24, 3,4, 5




12 -4

23

5

6
-3
-6

il |
|

;"3"”'/“"6) #‘4} "3/ 5;6}'2"

77 Write 80 as a product of its
prime factors

|
f
|
|
|
i
J

2% x 5

78 Write 50 as a product of its
prime factors

]
]

2x5"

79 Write 250 as a product of its
prime factors

2 X 53

80 Write 360 as a product of its
prime factors

22 x 3* x5

381 —-O< k<12 | "9;‘“'7/"‘61"-5/“‘-,'} wsjvzl_//@/ i/ 2.7
Write the possible values of k 2,4,5, 6, 7,8, a4, (0,11, 12

82 -8 <m< —4 ..,..‘7 - “"5 -

Write the possible values of m / i 4

o8 OGS R -l, -3, -2,-1,0,1,2

Write the possible values of k | . g’ + =191 1,445, H'/ S

84 —-3<w<4 |

Write the possible values of k “Z’ ﬂ" 0 / l/ 2" 3’ Lf.

85 —2<K=<6

Write the possible values of k

-2,=-1,0,1,2,%3,%,9 6

86 Solve 5(3x —2) = 35 r =3
87 Solve 3(2x +9) =57 <L = 6
88 Solve 42k + 4) =80 h." <

89 Solve 5(6x —4) = 62 + = «2.,!;!..5

90 Solve 9(x —9) = 180

L9
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